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1. A group of populations of two or more species occupying the same
geographical area at the same time is called

1. Ecosystem
2. Commensalism
3. Interaction
4. Community
2. Biotic factors include

1. Plants and animals

2. Water temperature, fish
3. Plants, animals and physical environment
4. None of the above
3. A population that exhibits birth rates that are identical to the death rate
implies
1. Initial growth

2. Plateau phase

3. Acceleration Phase
4. None of the above

4. A group of individuals from different species living in the same habitat and
exhibiting functional interactions is called

1. Biotic community

2. Population
3. Ecosystem

4. None of the above

5.Which is not the characteristic of 'r' selected species?

1. Reproduce quickly

Parental care

2.
3. Alow survival rate of progenies
4. Produce a large number of progenies
W

. 6. Which is not the characteristic of a population?

1. Natality
2. Mortality
3. Stratification

4. Sexratio
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7. The bottom area where production is less than respiration in a pond
ecosystem is termed as

Profundal zone

1.

2. Tidal zone

3. Benthic zone
4. Limnetic zone

8. According to Shelford’s Law of Tolerance, the organisms wide
environmental factor tolerance limit show

1. Narrow distribution with low population size

2. Wide distribution with high population size

3. Narrow distribution with high population size

4. Wide distribution with low population size

9. The natural place of an organism or community is known as

p—

Niche
2. Biome
3. Habitat
4. Habit

10. Lincoln index measures

1. Population mortality rate

2. Population natality rate

3. Population size
4. Population density

11. The ability of a population to increase under ideal environmental
conditions is called

p—

Natality
2. Carrying capacity
3. Biotic potential

4. Absolute natality

12. Which one is a ‘K’ selected species?

1. Aspergillus
2. Human

3. Taraxacum



4. Grass

13. The upper part of an aquatic ecosystem contains

pa—

Nekton
2. Plankton
3. Benthos
4. both (1) and (2)
14. Which of the following lake zones has phytoplanktons in abundance?

1. Littoral zone
2. Benthic zone

3. Limnetic zone

4. Profundal zone

15. Plant species with a wide range of genetic distribution evolve into a
local population known as

1. Ecotype
2. Population
3. Ecosystem

4. Biome

16. Which of these days is celebrated in the form of World Environment
Day all around the world?

a. July 5th

b. June 10th

c. October 20th

d. June 5th

17. In which of these following can we find Brackish water ecosystems?

a. Wetlands
b. Streams
c.Deltas

d. Coastal shallows



18. An extensive number of chains interlinked in an ecosystem forms a
together.

a. Food chain

b. Food web

c. Carbon cycle
d. Nitrogen cycle

19. Which of these elements is considered to be the largest source of
commercial energy consumption in the world?

a. Nuclear

b. Natural gas
c. Oil

d. Coal

20. Which of these layers of the atmosphere consists of the ozone layer
that is responsible for absorbing the Ultra-Violet (UV) light?

a. Troposphere

b. Mesosphere

c. Stratosphere

d. None of these

21. Which of these are essential non-metallic minerals?

a. Codl, silica, clay, cement

b. Iron, copper, aluminium, zinc
c. Gold, platinum, silver

d. Granite, limestone, marble



22. Which one of these does NOT refer to the direct use of forest products?
a. Grass for grazing

b. Gums and resins

c. Medicine
d. Bamboo for baskets

23. Which of these does not constitute to be a reason for the loss of
forests?

a. Extinction of species

b. Increasing use of sood

c. Building dams and mining

d. Extensive usage of fuel woods

24. Which two forms of alcohol do we include in biofuels?

a. Methanol and Ethanol

b. Propanol and Ethanol
c. Propanol and Methanol
d. None of the above

25. Which of these gases is not permitted to be released by the Prevention
and Control of Pollution Act by the Government?

a. Sulphur Dioxide
b. Carbon Monoxide
c. Nitrogen Oxide

d. All of the above
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1. Full form of ABC is
A. Atmospheric Brown Cloud B. Asian Brown Cloud
B. A&B are both correct D. A&B are both false.
2. The natural or physical cause of environmental degradation is
A. Cyclones B. Floods
C. Both A & B are correct D. A& B are both false.
3. The effects of environmental degradation are
A. Urbanization B. Population growth
C. Both A& B are correct D. Both A&B are false.

4. The relative warmth of a city compared with surrounding rural areas is known as

A. Urban Heat Island B. Urban Plume
C. Urban Dome D. All are false
5. Full form of PSC in relation to Ozone depletion is
A. Public Service Commission B. Polar Stratospheric Cloud
C. Polar Security Commission D. All are false.

6. The most populated continent is

A. America B. Asia
C. Africa D. Europe
7. One of the reason behind excess population growth
A. High fertility and low mortality B. High fertility and high mortality
C. Low fertility and high mortality D. Low fertility and low mortality

8. According to Malthus, population increases at
A. Arithmetic rate B. Geometric rate
C. Both of the above rate D. None of the above rate
9. What would be the main cause of poverty in India?
A. High income inequalities B. Less job opportunity
C. High growth in population D. All of these
10. The adverse effects of over population are
A. Food scarcity B. Unemployment
C. Lack of housing D. All of above
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1. The Atmospheric layer closest to earth is:

a) thermosphere  b) mesosphere c) troposphere d) stratosphere
1. HfRA7 NFoON VST B =

SRIURVIEIE b) e c) BronfHara d)
ENIERRIE

2. The atmospheric layer of earth that contains the dense ozone layer is:

a) stratosphere b) mesosphere c) thermosphere  d) troposphere

2. ST ITNSTER (T AT AIETT TV BTG B (NG
) SO ) (OISR 5Y) TR q) GrNFEarg

3. The gas not responsible for greenhouse effect:

a) CO2 b) CH4 c) CFC d) H2S
3. SIS fANRIGS eI Oy Wit +:
) CO2 ) CH4 5Y) CFC q) H2S

4. Changes in the environment due to the Green House Effect is:

a) decrease in temperature b) Increase in temperature

¢) Increase in agricultural production  d) increase in soil
pH
4. N 2T O[T FRCT AREHR ARIOF =
F)ONE@ I Q) OFN@ I o) PN OAMA I ¥) Wea 436
e

5. Global warming occurs due to the absorption of following type of light:

a) ultra violet ray b) blue and violet light  c) red light d) infra-red light
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5. fRTHIS 4A0NT STAT IV FIACY Y T 9OG:
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6. The gas most responsible for greenhouse effect is:

a) Methane b) Carbon dioxide c) oxides of Nitrogen d) CFC
6. NG SIIF G AICEC A T =e:
F) NN ¥) IR TR THEG 5) NRAZTGCANT WHRG  ¥) g

7. The man-made greenhouse gas is:

a) CFCH b) CH4 c) CO2 d) 03
7. NINIS]E (RIS 51T =e:
a) CFCH b) CH4 c) CO2 d) 03

8. Which of the following is not affected by global warming:

a) polar ice melting b) Sea level rise c) length of food chain
d) disturbance in water cycle

8. [Rea (M (AR S 7141 ofie =T =

) (VP R TP MA ST Q) SYEDF ool 5Y) AT &[T (Al
¥) GieTo (e IS

9. The type of UV-radiation that is most responsible for ozone destruction:
a) UV-A b) UV-B c) UV-C d) all are equally responsible

9. STGI &RTIF G STACBTN (A A1 UV-RIFACR &7 =:

F) UV-A ) UV-B 5T) UV-C q) FHEA2 AN Wt

10. Region on earth where ozone layer is most destroyed:

a) equatorial regions b) temperate region c) high
mountainous regions d) polar region

10. *fAAT IV HPHA (TUN SO B AL (@Y &KL ZT:

F) RS o ¥) NSATers w26 ) O LS WP )
(NP e



11. Which is not true for UV rays:
a) ozone prevents the entry of UV rays in earth

)
b) UV rays decrease the productivity of crop
b) UV rays are very harmful to living organisms
)

b) UV rays are destroyed by CFCs.

11. (P0G UV IF G ST 7:

F) ST “RIANTE WFSTe3 N I ATI 4T (M
¥) SRS A THCEH B AN IeTS! ZT5 A
5) WSTIYW I GRS ATV G YR Fohd
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12. Which one of the following is not harmful to ozone layer:

a) hydrogen sulphide b) chloro fluoro carbon  ¢) methyl chloride d)
nitrous oxide

12. {67 (=G ST B G FOPI N:

F) TAGNGH ATFIRG  ¥) G FAE IR 51) 2134 (FRI2G
q) NIZG™ WHRG

13. World ozone day is observed on :

a) 5 June b) 21 March c) 22 April d) 16 September

13. fY 8T 3T AT F1 =W

F) 5 G )21 WE o) 22 A ) 16 CTT6FA

14. Which of the following gas is not responsible for acid rain:

a) S02 b) NO2 c) CH4 d) H202
14. [NIET (@ 501 WG I G Wit =7w:
a) 502 ) NO2 5) CH4 ) H202

15. 'ELl Nono" means the following:

a) snow storm of polar region b) tropical oceanic storm c) storm of tropical
region d) avalance of high mountain range

15. "qeT (ICAT 49 WY RRfEfd:



F) (VP WA QI AT ¥) NUNSAT WA IS ) A ANGATT W26
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16. Acid rain has no harmful effect on:

a) monuments and architects b) food habits of man and animals c) forests
and ecosystems d) water absorption by roots of plants from soil

16. SITG 3B (FI FFoHT o[ (2 T2 T :

F) YoBT 32 NS ) AN ATSITS 5Y) I 32 ABOF
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17. The green-house effect does not apply to earth's atmosphere and biosphere
where:

a) It is very necessary to certain extent p

b) It is a completely harmful process

c) It is harmful if painless

d) For this the substrate is damaged

17. [N-2SA AR AT ATNSH 472 GIGHITS ATICT N (TLH:
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) A6 JHO T~ fowa G

57) VAT (T OB
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18. That is not true for infrared light rays:

a) increase in temperature of the atmosphere b) it is light rays of short wavelength
c) It is absorbed by inert gases d) It is not absorbed by water vapour

18. A6 RNFNIG WA A G oy 7F;

F) INQTET OIVNrar I ) G Fg STHMCNF AAF I

51) afS N 5Tt = o =¥ =) GfS Setry I Jrr o =T =

19. Rate of increase of carbon dioxide in Earth's atmosphere each year:
a) 18 billion tonnes b) 86 billion tonnes c) 54 billion tonnes d) 72 billion tonnes

I R



19. oS IRF ARYIT ITNSTA IR TR WHRG Jad TR:

) 18 fJfeTs= B ) 86 fJfery= B ) 54 [{feTs G

q) 72 f[Rfera= B

20. Countries that contribute the most to CO2 production are:
A) America b) Russia ¢) China d) India

20. CO2 G AN HIGIR0® WIEF GNP (T (MTHIS:

F ) WCNRFT 4) A 91) B ) oo

21. The statement that is not true for CFC:

a) It remains unchanged for about 100 years and destroys ozone
b) It is 15000 times more harmful than carbon dioxide

c) It can absorb infrared light rays and retain a lot of heat energy

d) It absorbs uv rays and increases the ozone layer in the stratosphere

21. BT =S 57 99 G o7 N3 (T FT:

) 22 ATY Y00 QL WRF© (AP TG 4337 P

) 2Z] IRV TIEAFRG WCNH Y¢o000 BN [N FoHa

51) B2 WICANRS WP I3 T FH ART OIS LTI LTS NI
q) 2R uv M (Y L SPRNOIFHAL STHIN B Iz R

22. which of the following is not related to global warming:

a) Montreal Protocol, 1981 b) Helsinki declaration, 1989 c) IPCC establishment by
UN organization

d)Stakholm conference, 1981
22. 6T (TG 7Y TR Y ST=F® 77

F) NG ATOIF, 1981 ¥) (DI (AN, 1989 5Y) TUNOHLT FFT TP SR
oS

H) BIPRCRIA AN, 1981

23. Which one has no effect of global warming:

a) Rise in sea level b) Increase in standard of living of people c) Melting of polar
ice caps d) Decrease in food production



23. % BT (W oK (W2 (TCHQ:

F) TYHOT G0l I(%r ¥) NI QIR N (7 ) (N W I 51T IS0
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24. Which of the following is not true regarding global warming:

A) By 1950 the average global temperature will rise by 2.8 degrees Celsius
b) The level of carbon dioxide in the atmosphere will rise to 500ppm

c) Extreme events like tsunami and El Nifio will occur

d) Biodiversity will increase

24. N5 (FHIG Ry THRER CFF oy 7T

) 1950 AT T 51G ([P OIANrEr 2.8 {8y et g A
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25. Gases present in the ozone layer while absorbing UV rays are:
a) O3 only

b) O3 and O

c) 03 and 02

d) 03, 02 and O

25. UV M (19T IR STY STOTH BTH BHES Nl 2e:

) ®YATF 03

) 03 ]2 0

) 03 9k 02

¥) 03, 02 933 O

26. Which of the following is not a result of ozone layer depletion:

A) Human skin cancer and cataracts

)
b) Loss of balance in atmospheric 02 and O3
c) Loss of soil nitrogen

)

d) Changes in soil profile



26. fATHA (PR STGH B AL (A :
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b) ITNBAT 02 JI2 03-4 ST AT
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27. Which of the following event is not the result of increase in UV rays in the
environment:

A) Photosynthesis of plants decreases
b) Death occurs due to excess vitamin-D synthesis in the human body
c) Excess calcium in the blood increases and health is disturbed

D) The number of marine animals increases

27. TRTBA (FI= TGANG AR NOIQ N I I T 7:
F) Bl STTEPILTENT 15T AT

) WAIM(Z W& fOBIMNN-fE TR FR0T I 96
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28. Which of the following gaseous ions has the maximum reactvity to destroy ozone layer:

a) OH b) NO c) Cl d) Br-
28. fNTER (TN ATIAT TN STON BACH KT FAF G A (it
a) OH- b) NO- c) Br- d) cl-

29. Scientists discovered that CFCs:
A) Du Pont

b) Thomas Midgley

c) Alexander Fleming

d) Gilbert Walker

29. a1 SRIFF AR (T CFC:
F) G G
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30. World Ozone Conservation Day is observed on which of the following days:
A) 5 June

b) 16 September

c) 22 April

d) 1 December

30. fREEARTS (FN M Ry STaI ST=H AT e~ 1 =W

F) ¢ GA
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) 22 Af3E

q) s for1me

31. Which of the following gases is responsible for acid rain:
a) S02

b) H20

c) CFCs

d) CO2

31. [T W SIS ST 3R Ty A

F) 502

) N20

5Y) CFC

d) CO2

32. Which of the following phenomena is not responsible for acid rain:
a) Lightning

b) Volcanic eruptions

¢) Internal combustion engine using petroleum

d) Use of chemical fertilizers in agriculture



32) fTER (1= TGO WIS JfEF Gy 7 =w:
F) IGTS

) SN TP A1

5Y) (HTFIFETAN VIR B OIS T2 2N
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33. The pH level of acid rain is:
A) Below 5.65

b) Between 5.65 &6

c) Above 6

d) Above 7

33. WG 3B pH B =4:
) 5.65 47 NG

) 5.65 3% 6 T WY

) 6 9 BATT

¥) Q4 9 BN I

34. Which of the worst affected Indian cities or industrial cities is least affected by

acid rain:

a) Allahabad b) Visakhapatnam c) Pondicherry d) Kodaikanal
34, STICHC SHOAE OO 127 1 g *IRISEF T (FI0 S0 RS FIET FN

ijllﬁ\o XN

a) JIRIAM ) ATrore~ ¥ 9) AfSGR q) (PIoRd=e

35. Which of the following does not reduce acid rain:

a) Coal washing and burning
b) Use of sulfur free petroleum gas
) Use of alternative energy

d) Use of crude petroleum fuel

35. fRTHR (FWI0 =G I1F FN =:



) I IR G (ATOICAT

) MTHIE Y& (ACGITAN 9719 I
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¥) WAFNIES (AT GreAfag 59209

36. Which of the following is not suitable for El Nifio:

A) It is caused by the difference in air pressure and temperature on the east and west
coasts of the Pacific Ocean

b) It results in the formation of gyres in the Pacific Ocean
¢) It causes storms in North and East America and droughts in Australia

d) It causes the temperature to decrease in America, Canada and Alaska

36. fNTHT (PG I [N G SIS T

F) A6 2P TR =1 8 AT GHAFA I B9 A2 SIANAF NI FIACY
o

) J9 B S VAN N3 (O] =TI
51) 6 Ted 8 WCNRFHI AT A7 KT 41 5B FE
q) 6 SRR, FINCT I3 AR SN Z1 FE

37. Which of the following is not a disadvantage of deforestation?
a) destraction of oxygen and carbon dioxide equilibrium

b) habitat loss for wild animals

c) increase in wild life population

d) soil erosion

37. fRTER (PTG 37 TeTw SsjfRE T

) WHTGH I3 I T2 SHRGH SR FE IR

%) I ATNTHR RITECE 5O

51) IRTLNR G4 I

B RVICEE T




38. Which one of the following is not considered as advantage of deforestation?
a) biodiversity destraction
b) supply of rawmaterials for the forest based industries

c) charcole obtained from trees is used for many industrial products and energy
production

d) soil conservation

38. fATH (I I TGS I R [Rdfoo =7 A1

) QI &R

¥) I fof &< MR G FIoTIE SRR

5Y) SR (AT AT BIRCHIE F(AP I N 72 *MS B A IS =N
q) WS ST

39. Which is not the purpose of afforestation:

a) controlling the carbon footprint

b) protecting the natural environment

) ensuring human sustainability in the present and in the future
d) to improve our social and cultural life

39. INTNCNR SR ¥ (0

F) IR *mivT NTg Fa1

) ATFOF AR T 1

) TEAW I3 SIS NI (BFA2 [N *6® F4T

) NI ANIGE 8 A FHOF G BFS T

40. Causes of deforestation are not the following:

a) Agricultural Extension

b) Harvesting trees for domestic and industrial purposes
) Excess petroleum extraction

d) Infrastructure expansion for urbanization

40. @RS (@I IV OGS PR NI:
) A TR



b) XY 43¢ g STMTAT MR 6T
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41. Afforestation process does not include the following:

a) Proper utilization of forests and forest products

b) Maximum utilization of forest land for tourism and industrial purposes
c) Controlled and planned felling of trees

d) Forest fire and tree disease control

41. IV A RS (PG TGS FE
) I S ING TAT TAAY IJITR

) 16N 8 g SURTT INeN ST =R
51 fRE® 8 AfRPFoend g Ho!

q) 0N WS 433 SR @15 g

42. Natural resource management is important for the following reason:
a) to maintain a balence in the ecosystem

b) to improve the educational quality of human beings

c) to reduce the racial and religious conflicts

d) to improve the measure of pollution control

42. RS FRCY AFOF T JIZ ST

F) IBOCFI OV IOUT A4l

) NI FHI TN SO F1

) TSNS 8 YT 77 IS

) TR fRgeeR Ay Te w41

43. Following is the renewable natural resource:
a) coal and minerals

b) fossil fuel and petroleum



c) forest products

d) atomic energy

43. RS SFAIIFININ AFOF T=0:
F) P G2 4K

b) G ST~ 4R (TGS

) IS A

) AANRS =&

44. The most important natural resource is
a) wild life

b) forest

c) wind

d) land

44, SICETT BFFA AFOF TN =4

F) IN QIR

) IV

45. Environmental impact assesment (EIA) is prepared for:

a) To estimate the effects of a proposed construction project on the surrounding

environment

b) to improve the educational quality of the people

c) to increse the talent of the local people

d) to increase the pollution of environment

45, AFR*NS AC[ Yo (EIA) I G ABO BT AACR:
F) TS AR THNT B0 BT N AFFH AT AN FAT

¥) TR Fe1a v ORI 41
5) N GO (N1 I BT
q) AR 739 I S0



46. following is not the advantage of EIA:

a) Protecting natural resources and ecosystem
b) Engaging stakeholders and the public

c) promoting sustainable development

d) potential conflicts and delays

46. NRFAMLS EIA 99 5[0 =

) ATFEF ST I3 AFOF T FAI

¥) COPIROE I8 GATILENS Gio© BT

5) (GF>IR TR A6

q) STRT 7R 432 [Rerg

47. which of the following steps is not a part of EIA:
a) sereening and mitigation

b) review and monitoring

c) fund generation from donation

d)preliminary assessment

47. NRfER® rovesfEg ey (P10 EIA 97 S0 9
) FAN AR F*N
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48. Which of the following is not an example of EIA
a) highways

b) thermal power plant

c) cottage industry

d) river dam

48. RT3 (PG EIA 97 SUIRAT N2

F) TR

) SRS (X

51) o g
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49. which of the following is not considered as disadvantage of EIA:

a) time and cost implications

)
b) protecting natural resources and ecosystems
c) subjectivity and complexity of assesment

)

d) limitations in addressing cumulative and indirect impacts

49. AR NG EIA 97 SIRYE TS5 73:
F) STNY U2 YA AOR

) ATFOF TR <3 ABoF 56 FAI
) ARCGRGI6 I YA SifoeTor
¥) TNILA G2 NEAPF AOR (NFIATT ANzer

50. Which of the following is an example of environmental legislation in India?
a) The Environment Protection Act, 1986

b) The Wildlife Protection Act, 1972

c) The National Green Tribunal Act, 2010

d) All of the above

50. fRTEF (PG ORTS AITI* AR SAIRIT?

F) ARI* STTHT W12, 1986

%) IV ST W12+, 1972

5Y) GSIT SO BIRLAI SN2, 2010

q) BHATIS TS

51. What is the primary cause of deforestation?
a) Urbanization

b) Industrialization

c) Agriculture

d) All of the above

51. IN BOIGT ATANF FIEAY B2
F) VAN
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52. Which is not a measure of environmental protection?
a) Afforestation
b) Switching to renewable energy sources
¢) Recycling
d) Plastic use
52. (IO AR TR AT N2
F) IRV
) NATANCA5T A& TQARATS SFRE FAT

) AN
¥) 26 =T

53. What is afforestation?

a) Burning of forest

b) Clearing a forest

c) Process of establishing a forest or stand of trees

d) Cutting trees for industrial use
53. INIT fF2
F) IV ST el
¥) GF6 IV ARTHFRE FAT
) GHf6 IV A MR OIS FINT~ A G
¥) g IIRCID G5 SR FI6T

54. What does an Environmental Impact Assessment (EIA) do?

a) Evaluates the economic impact of a project

b) Investigates the environmental consequences of a considered project
c) Evaluates the social impact of a project

d) All of the above



54. JF6 JNOTIINCNGIA INATG WIS (EIA) fF FR?

F) AF0 AFHT TLAGH AT YN (I

) 96 RS ARG ARG AFIS onE Fa
51) JHTO ABLFI TTNNGF AOR YN FCI

X)) GHL HI3Cel

55. What is the main aim of Natural Resource Management?
a) To increase the exploitation of natural resources

b) To conserve resources for future generations

c) To prevent natural disasters

d) To improve the agricultural yield
55. ATPROP SN JIIZIANE eI o557 672
) ATFOF ST (I I 1
¥) ORI AGCAL G ™R HTH Bl
) AFFoF TS ARSTATY FAT

V) N TeT~ CRN© Bl

56. Which of the following statements are true regarding deforestation?
a) It results in higher levels of CO2 in the atmosphere

b) It increases soil erosion

c) It leads to loss of biodiversity

d) All of the above

56. I GG SN(F N6 (F [IFMH g2
F) A6 IS CO2-A7 T WA BT

¥) 46 WHoF 3FF IO

) A6 GBI o M AFoife
X)) G STl

57. Which activity does not contribute to environmental damage?
a) Burning fossil fuels

b) Using public transport or cycling



¢) Dumping waste in water bodies

d) Use of pesticides in farming
57. (PN FILFA ARIIC HSTS IR L N2

) R AT TSI
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58. Which of the following measures can help in the conservation of natural resources?
a) Use of non-renewable resources
b) Use of organic farming methods
c) Use of plastic products
d) Overfishing
58. [ATE (I TTZ ATPROP W ST IR FHACO A2
¥) (G B1F & 132
5) HIFEH 2T IR
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59. What is the potential consequence of not managing natural resources properly?
a) Global warming
b) Extinction of plant and animal species
¢) Human conflict over resources
d) All of the above
59. AIFSF M AMFFOII ARTETAN 1 FAF ABIT AfFAS Fi?
F) (AR ST
¥) BfE™ 8 AW oo [efs
5Y) ST (T NI Ao
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60. Why is deforestation a global environmental issue?



a) Itis a local problem
b) It causes loss of biodiversity
c) It increases the volume of harmful gasses in the atmosphere
d) BothBand C
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61. Which gas is majorly responsible for the greenhouse effect?
a) Oxygen
b) Nitrogen
c) Carbon dioxide
d) Helium
61. (BTN ST [ANRNSH I Gy AL A2
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62. Which organization has a mandate for environmental impact assessment for proposed
industrial projects?

a) UNESCO
b) WHO
c) UNDP
d) MOEFCC
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63. What is the primary aim of sustainable natural resource management?
a) Profit maximization
b) Conservation while meeting developmental needs
¢) Rapid industrialization
d) Extraction of all available resources
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64. Which method helps in the conservation of biodiversity in natural habitats?
a) In-situ conservation
b) Ex-situ conservation
c) Energy conservation

d) Water conservation
64. ATPMOF ARTTEA GIRLIDAT FLTHLY (FN @S ST FI?
) BN-PI ST
) JH-IG AT
51) V& STTHY
q) AN ST

65. The environmental impact assessment focuses on which of these aspect?

a) Predicting and providing solution for environmental consequences

b) Studying only flora and fauna

c) Focusing only on water pollution

d) Checking land topography
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66. Logical reasoning: If new industrial projects are assessed for environmental impact, what
could be the potential outcome?

a) Projects will never be approved
b) Proper planning will minimize environmental damage
c) There will be no impact on the environment

d) All projects will damage the environment
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67. Which of the following is not a global environmental issue?
a) Deforestation
b) Ozone depletion
c) Plastic ban
d) Online piracy
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68. The environmental impact assessment focuses on which of these aspect?
a) Predicting and providing solution for environmental consequences

b) Studying only flora and fauna

c) Focusing only on water pollution

d) Checking land topography
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69. What is natural resource management (NRM)?

a) The management of natural resources such as land, water, soil, plants, and animals for
human use and benefit.

b) The management of natural resources such as land, water, soil, plants, and animals for
ecological sustainability and conservation.

c¢) The management of natural resources such as land, water, soil, plants, and animals for both
human use and benefit and ecological sustainability and conservation.

d) None of the above
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70. What is the purpose of environmental impact assessment (EIA)?

a) To identify, predict, and evaluate the environmental effects of a proposed project or
activity.

b) To monitor, regulate, and enforce the environmental standards and regulations of a project
or activity.

c) To provide information and guidance to the public and stakeholders about a project or
activity.

d) All of the above
70. IS S} JeANTN (EIA) A7 Sw15 52
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71. Which of the following is a step involved in environmental impact assessment (EIA)?

a) Screening

b) Scoping

c) Public participation

d) All of the above
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72. Which of the following is an example of environmental legislation in India?

a) The Environment Protection Act, 1986

b) The Wildlife Protection Act, 1972

c) The National Green Tribunal Act, 2010
d) All of the above
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73. Extensive planting of trees to increase forest cover is called:
a) Forestry

b) Deforestation

¢) Forestry

d) Social forestry
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74. What is the process of clearing an area called?
a) Forestry

b) Deforestation

¢) Pollution

d) Greenhouse effect
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75. What is the best way to reduce deforestation?
a) Using more paper

b) Clearing more land for agriculture

) Implementation of sustainable forestry practices
d) Increase in industrial activities
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76. What causes greenhouse effect?

A) Solar energy is trapped in Earth's atmosphere and radiates slowly
b) Excess CO2 in the atmosphere

¢) Ozone depletion

d) Excess CO in the atmosphere
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77. The primary reason for EIA is:

a) Mitigation of existing environmental impacts.

b) Facilitation of fast-track approval for development projects.
C) maximizing economic benefits.

d) Minimize public participation.
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78. EIA is generally required for a development project when:
a) Limited impact on the environment is expected

b) There is potential for cross-border impact.

¢) Many people are likely to be affected by the project.

d) No cumulative effect is expected
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79. What are the three rupees that will help us conserve natural resources for long-term
use?

a) Recycle, Regenerate, Recycle
b) Reduction, regeneration, reuse
c) Reduce, reuse, redistribute

d) reduce, recycle, recycle

79. TG BreT Bt T SRR RITIIAT IR G ATFOF ST T TFY FAO
AR PJCQ?

) (MRS, [RUGAIED, [Rea

) Z, G, AN IRZR
5Y) ZIT FEA, YN T I, VA oI T

d) Z3T 1, NI A1, YNNI FAT

80. National Park serves for many implications and important for
a. Scientific and Economic values

b. Economic, Aesthetic and Recreational Values

c. Scientific and Recreational values.

d. Scientific. Aesthetic, Recreational and Economic values.
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81. Red Data Book was published by



a. ICBN
b. UNEP
c. IUCN
d. BSI
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82. MAB Programme implies

a. Safeguard of genetic diversity of species

b. Morphological adaptations of flora and fauna to the changing environment.
c. Protecting plants under forest covers.

d. Protecting animals under forest cover.
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83. Biosphere Reserve includes
a. Core zone

b. Buffer Zone

c. Tidal zone

d. Core and Buffer Zone
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84. Timber, Fuel, medicinal plants, fodders are obtained from
a. Agricultural land

b. Grassland

c. Forest Cover

d. Estuarine zone
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85. Sunderban is known to inhabit largest cover of
a. Mangrove plants in the world

b. Grassland in the world

c. Deciduous Plant

d. Evergreen Plants
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86. Quinine, an antimalarial drug is obtained from the bark of
a. Cinchona

b. Catharanthus

c. Oak tree

d. Taxus
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87. Expansion of agricultural croplands for farming and enhanced grazing by cattle causes
a. Afforestation
b. Deforestation
C. Reforestation

d. Nudation
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88. Deforestation causes loss of wild life along with
a. soil erosion

b. flood

. drought

d. all of the above
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89. MAB full form is

a. Man and Biosphere Programme
b. Man and Biosphere Reserve

c. Man and Biome

d. Man and Biome Interaction
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90. IUCN Full form is

a. International Union for Conservation of Nature and Natural Resources
b. International United Conserved Body for Nature

C. International Union for Conserving Nature

d. International Union for Conserving Natural Resources
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91. National Forest Policy was announced by Government of India in the year
a. 1952
b. 1962
c. 1972
d. 1982
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92. Development and Enlargement of Tree cover and sustainable utilization of resources is
aimed and the following was developed



a. National Forest Policy
b. Convention on Biological Diversity
c. Man and Biosphere Programme

d. Earth Summit

92. SMTRT ARV SFIN 8 AfFILN 433 TR (GFH2 IRV o157 Bl (AR
93¢ fRRfEfiowfed (ofd a1 2raf®Ra

F Gl IS

¥ (GIP ([ETE PO
5. I 43¢ AR (AN
d =2 SNG

93. WWEF full form is

a. World Wild Fund

b. World Wide Fund For Nature
c. World Wise Fund

d. World Wild Fund For Nature
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94. UNEP full form is

a. United Nations Environment Programme

b. Union of National Environmental Programme
c. United Nation Environment Programme

d. United Nation Environmental Programme
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Sem-1 VAC Multiple Choice Question (MCQ)
Department of Chemistry
Barasat Government College
MODULE Il
Syllabus: Introduction to pollution; air, water, soil & noise pollution; regulatory aspects and legislation;
pollution and its measures, removal of pollutants, hazardous and biomedical waste management.

1. Solid waste management by pyrolysis refers to
a. Heatingin presence of air
b. No heating
c. Heating in absence of air
d. Treating with chemicals before heating
2. Which one is the biological method of municipal solid waste disposal
a. Landfilling b. Pulverisation c. Composting d. Shredding
3. Find out the sequence of disposal method for low hazardous industrial and urban solid
waste
a. Indiscriminate< dumping< land fill <incineration <reuse
b. Composting< land fill <reuse < incineration
c. Land fill reuse< incineration <composting
d. Incineration< reuse< composting< landfill
4. Average noise levels in heavy traffic zone of major cities in India are(in dB)

a. 31440
b. 41-50
c. 70-95
d. 110-120
5. Which unit is used in the measure of the noise intensity?
a. Hertz
b. Decibel
c. Watt
d. None
6. Human ear is most sensitive to noise having frequency
a. 1-2kHz
b. 100-500 kHz
c. 10-13kHz
d. 13-16kHz

7. What type of chemical weathering is enhanced in acid rain?
a. Dissolution

b. Hydrolysis
c. Oxidation
d. Reduction
8. The largest soil group of India is
a. Red soil
b. Black soil

¢. Sandy soil
d. Mountain soil
9. Chemical weathering in rock is largely dependent on
a. Strong wind action
b. High temperature
c. Heavy rain fall
d. Glaciation



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Which soil is very hard to cultivate?
a. Alluvial soil
b. Sandy soil
c. Red soil
d. cotton soil
Which one is measured by porometer?
a. Soil fertility

b. Soil salinity
c. Soil acidity
d. All

In the formation of surface ozone which plays very important role?
a. Oxides of nitrogen
b. Oxides of sulphur
c. Sunlight
d. Carbon monoxide
Which is included in the Air Quality Index in India?
a. Carbon dioxide
b. Chlorofluoro carbons
c. Sulphur dioxide

d. Methane
Which one is responsible for minamata disease?.
a. Mercury

b. Cadmium
c. chromium
d. lron
The most dominant Source of benzene emission is
a. Cementindustry
b. Cigarettes
c. Paints and Varnish
d. Car exhausts
Which river carries highest yearly silt and is indicator for highest soil erosion?
a. Yellow river

b. Ganges
c. Amazon
d. Nile
Which type of soil erosion is found in Purulia?
a. Splash
b. Sheet
c. Gully
d. All

Who is the writer of ‘smallest dam is a blade of grass’?
a. Petersen

b. Bell
c. Fleming
d. None

Renewable energy sources are
a. Solar energy
b. Air
c. Geothermal
d. All



20. London smog tragedy arose due to

a. COo2
b. SO2
c. H20 Vapour
d. 03
21. Blue baby syndrome occurs due to which ion?
a. Nitrate
b. Nitrite
c. Phosphate
d. Chloride

22. Which one is responsible for Bhopal gas tragedy?
a. Hydrogen sulphide
b. Hydrocyanic acid
c. Methyl isocyanate
d. None
23. Lowest atmospheric layer is
a. Troposphere
b. Stratosphere
c. lonosphere
d. None
24. Stone leprosy occurs due to
a. Acid rain
b. Carbon dioxide
c. Sulphur dioxide
d. None
25. Chernobyl disaster occurred due to
a. Radioactive pollution
b. Water pollution
c. Soil pollution
d. None



